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Astronomy (110 Questions)
[image: http://creationwiki.org/pool/images/thumb/b/bc/Cosmos.jpg/350px-Cosmos.jpg]

Standards
S6E1. Students will explore current scientific views of the universe and how those views evolved. 

S6E2 Students will understand the effects of the relative positions of the earth, moon and sun.
1. The pull of gravity on Earth is a direct result of the
A. mass of Earth.
B. magnetic field of Earth.
C. rotation of Earth on its axis.
D. weight of Earth's atmosphere.

2. Which of the following lists Earth, Jupiter, the Moon, and the Sun in order from largest to smallest?
A. Jupiter, Earth, Sun, Moon
B. Sun, Jupiter, Earth, Moon
C. Sun, Jupiter, Moon, Earth
D. Jupiter, Sun, Earth, Moon
[image: ]
3.Which position of the Moon could cause a solar eclipse?
A. 1
B. 2
C. 3
D. 4
4. How would the measurable properties of a golf ball change if it were moved from Earth to the Moon?
A. It would have the same mass, but a different weight.
B. It would have the same weight, but a different mass.
C. It would have the same density, but a different mass.
D. It would have the same mass, but a different density.
5. The Moon orbits Earth at a speed of approximately one kilometer per second. The Moon is kept in orbit by which of the following?
A. gravity
B. lunar phases
C. magnetism
D. ocean tides

6. A solar eclipse occurs when
A. Earth blocks the Moon from the Sun.
B. the first four planets are in a line.
C. the Moon blocks Earth from the Sun.
D. the last four planets are in a line.
7. Use the map below to answer this question.
[image: ]
The map shows ocean currents in the northern Atlantic Ocean. Which location most likely has the warmest climate?
A. location A
B. location B
C. location C
D. location D
8. Venus has the highest surface temperature of all the planets in our solar system. Which is the best explanation for this?
A. Venus rotates on its axis very slowly.
B. Venus is very close to the Sun.
C. Venus revolves around the Sun relatively quickly.
D. Venus's atmosphere has thick clouds and carbon dioxide.

9. Which event in the life cycle of a star causes it to begin to glow?
A. The particles making up the star repel each other.
B. The temperature of the star mass increases.
C. The matter making up the star condenses.
D. The neutrons in the star begin to spin.

10. Artificial satellites are grouped into all of the following categories except
A. commercial.
B. meteor.
C. scientific.
D. secret military.

11. An astronomer observes a neutron star that has formed after a supernova. It is spinning rapidly and emitting radio waves. This star is a
A. supergiant.
B. black hole.
C. nova.
D. pulsar.

12. Astronomers usually measure the distance from Earth to the Moon in
A. meters.
B. kilometers.
C. light-years.
D. fathoms.

13. A characteristic of gaseous planets is that they have
A. no density.
B. a density greater than Earth's.
C. a density the same as Earth's.
D. a density less than Earth's.

14. The asteroid belt is located between
A. the Sun and Earth.
B. Mars and Jupiter.
C. Neptune and Pluto.
D. Saturn and Uranus.
15. The reason that a student does not feel the gravitational pull of the Sun is because
A. the Sun has no gravitational pull.
B. the mass of the Sun is very small.
C. the Sun is very far away.
D. Earth is so much smaller than the Sun.

16. Which planet is closest to the Sun?
A. Jupiter
B. Mars
C. Venus
D. Mercury


17. Which planet do scientists think once had surface water or flowing rivers?
A. Mercury
B. Venus
C. Mars
D. Jupiter

18. When the Moon goes through Earth's shadow, we see a
A. solar eclipse.
B. lunar eclipse.
C. total eclipse.
D. planetary eclipse.

19. Venus is completely enveloped in clouds that hide its surface from view on Earth. Which statement is also true
about these clouds?
A. They keep the surface cool.
B. They produce sulfuric acid rain.
C. They are mostly made of water.
D. They are caused by volcanoes.

20. A comet is largely made up of
A. iron and nickel.
B. rock.
C. petroleum.
D. water and ice.

21. We can be sure that the Milky Way galaxy we live in is a spiral galaxy rather than an elliptical galaxy because
A. it has curved arms.
B. it does not show any rotation.
C. its stars are all about the same age.
D. new stars are no longer forming.
22. When a star like the Sun runs out of hydrogen in its center, it evolves into a
A. red giant.
B. blue straggler.
C. supernova.
D. yellow dwarf.

23. How does the gravity on the Moon compare to the gravity on Earth?
A. Gravity is the same wherever you are.
B. There is less gravity on the Moon.
C. There is more gravity on the Moon.
D. Gravity depends on each person.



24. Why does the Moon orbit Earth instead of the Sun?
A. Gravity depends on distance and the Moon is closer to Earth.
B. Only large objects orbit around the Sun and the Moon is too small.
C. The Moon used to be part of Earth so it must orbit Earth.
D. The Moon is moving too fast and cannot change its orbit.

25. The Sun's gravity holds each planet in its orbit. Pluto is farther away from the Sun than Earth is. How does the effect of the Sun's gravity on Pluto compare with the effect of the Sun's gravity on Earth?
A. The Sun has the same gravitational pull on all planets that are in orbit.
B. The Sun has more gravitational pull on Pluto because it is smaller.
C. The Sun has less gravitational pull on Earth because it is closer.
D. The Sun has less gravitational pull on Pluto because it is farther away.

26. Objects in an orbiting space shuttle float because
A. the space shuttle slows down when it reaches orbit.
B. Earth's gravity has less effect on objects as they get farther away from Earth.
C. the mass of the object is less in space.
D. the space shuttle's engines cause too much vibration for objects to remain still.

27. Earth is made of solid materials. Jupiter, Saturn, Uranus, and Neptune are all made of gas. Which is true about the density of these planets?
A. They are more dense than Earth.
B. They have no density.
C. They are less dense than Earth.
D. They have the same density as Earth.

28. The asteroid belt can be found between
A. Earth and the Sun.
B. Earth and the Moon.
C. Neptune and Pluto.
D. Mars and Jupiter.
29. The dark, lava-covered lowlands of the Moon are called
A. mountains.
B. volcanoes.
C. valleys.
D. maria.

30. A hurricane-type cloud known as the Great Red Spot can be found on which planet?
A. Saturn
B. Mars
C. Uranus
D. Jupiter

31. The atmosphere of Venus consists of thick yellow clouds formed mostly from
A. helium.
B. sulfur.
C. hydrogen.
D. carbon.

32. Which accounts for the fact that a compass can be used to find north on Earth?
A. Earth has a magnetic field.
B. Earth has only one moon.
C. Most of Earth is covered by water.
D. Earth's temperature is not constant.

33. Use the chart below to answer this question. [image: ]
The chart shows the average distance of each planet from the Sun and the speed each planet travels in its orbit.
Which conclusion should be drawn from this chart?
A. The planets closer to the Sun travel around the Sun faster.
B. The planets closer to the Sun absorb the Sun's energy and therefore move faster.
C. The outer planets move slower because they are larger.
D. The outer planets move slower because they have many moons.
34.Use the diagram below to answer this question.
[image: ]
When the Sun, the Moon, and Earth are in the same line as shown, which of the following could occur?
A. an eclipse of the Sun
B. an eclipse of the Moon
C. The Moon could be pulled closer to Earth.
D. The spin of Earth could be increased.

35. What characteristics do scientists measure to determine the temperature and composition of stars?
A. the positions of the stars in the galaxy
B. the light radiated from the stars
C. the proximity of the stars to each other
D. the speed at which stars are moving

36. Why does the amount of daylight change during the course of a year?
A. The amount of light and heat radiated by the Sun changes at different times of the year.
B. The distance between the Sun and Earth changes from summer to winter.
C. The North Pole points more toward the Sun at one time of the year than another.
D. Earth rotates at different speeds at different times of the year.

37. Which statement best explains why there is no atmosphere on the Moon?
A. The temperature of the Moon varies too much to develop an atmosphere.
B. The Moon does not have enough gravity to hold an atmosphere.
C. The Moon revolves too quickly to keep an atmosphere.
D. The density of the Moon is too great to allow an atmosphere.

38. Use the table below to answer this question. [image: ]
This table shows data for major characteristics of the nine planets in the solar system. (One revolution is the length of time required for a planet to make one complete trip around the Sun; one rotation is the length of time required for a planet to make one complete turn on its axis.)Which of the following planets has the shortest day measured in Earth time?
A. Pluto
B. Earth
C. Jupiter
D. Mercury

39. There are about 24 hours in a day. What would happen to the length of a day if the rotation of Earth sped up?
A. The length of a day would be shorter.
B. The length of a day would be longer.
C. The length of a day would remain the same.
D. The length of a day would be unpredictable.

40. The Moon appears to change shape because
A. the Moon rotates.
B. Earth rotates.
C. Earth revolves around the Sun.
D. the Moon revolves around Earth.

41. Life on Earth is protected from the Sun's ultraviolet radiation by
A. the cloud cover.
B. dust particles.
C. water vapor.
D. the ozone layer.

42. Footprints made by astronauts on the Moon many years ago are probably still there because
A. the heavy astronauts left very deep footprints in the Moon's dust.
B. the dust on the Moon hardened into stone.
C. time passes much more slowly on the Moon.
D. the Moon has no weather.

43. Daylight in the Northern Hemisphere lasts longer in summer than in winter, and the change in the length of day happens in a predictable pattern. Which statement correctly explains this condition of Earth's environment?
A. The Sun moves closer to Earth in summer and farther away in winter.
B. Earth, with its tilted axis, moves around the Sun in a predictable way.
C. There is a predictable change in the amount of heat and light given off by the Sun.
D. Earth turns slower in summer than it does in winter.

44. How does the number of hours of daylight compare to the number of hours of darkness on March 20, the first day
of spring in the Northern Hemisphere?
A. The hours of daylight and darkness are the same.
B. There are more hours of darkness than daylight.
C. There are more hours of daylight than darkness.
D. The number of hours of daylight and darkness cannot be predicted in advance.

45. An object in the solar system has many wide, flat craters. What must be true about the object?
A. It is an asteroid.
B. It was originally formed with craters.
C. It has been hit by other objects from space.
D. It is a planet.

46. It is about 28 days from one full moon to the next. This is because 28 days is about the time it takes for one
A. revolution of the Moon around Earth.
B. revolution of Earth around the Sun.
C. rotation of the Sun.
D. rotation of Earth.

47. The force that keeps a communications satellite in orbit around Earth is
A. gravity.
B. friction.
C. magnetism.
D. electricity.
48. Which planet is characterized by thick cloud cover, greenhouse effect, vast plains, and high mountains?
A. Uranus
B. Saturn
C. Mercury
D. Venus

49. Marty learned that a planet's orbital velocity is related to its distance from the Sun. He noted that orbital velocities range from 4.7 km/sec (Pluto) to 47.8 km/sec (Mercury). Which planet is likely to have an orbital velocity of 5.4 km/sec?
A. Venus
B. Earth
C. Mars
D. Neptune

50. Which planet is characterized by polar ice caps, a pink sky, a rust-colored surface, large volcanoes, and surface channels?
A. Uranus
B. Pluto
C. Mars
D. Saturn

51. Which planet has a great red spot and many moons?
A. Neptune
B. Jupiter
C. Mars
D. Mercury

52. Which picture demonstrates rotation? [image: ]
53. Which is the largest planet?
A. Mars
B. Uranus
C. Jupiter
D. Saturn

54. The force that causes rain to fall to Earth is
A. wind.
B. solar heat.
C. gravity.
D. electromagnetism.
55. The ozone layer in Earth's upper atmosphere is important to living organisms because it
A. absorbs harmful ultraviolet radiation from the Sun.
B. breaks down harmful pollutants into normal atmospheric gases.
C. supplies the oxygen living organisms require to carry on respiration.
D. traps heat close to Earth's surface to maintain temperatures necessary for life.

56. Scientists have concluded that the universe is expanding, by observing a red shift in the light coming from other galaxies. Which instruments allow scientists to observe the red shift?
A. space probes
B. Geiger counters
C. telescopes
D. spectroscopes

57. Earth is tilted 23.5° on its axis as shown below.                                [image: ]
What angle would Earth's tilt need to be in order for there to be no seasons on Earth?
A. 0°
B. 45°
C. 60°
D. Earth's tilt does not offset the seasons.





58. Kate is building a model of the solar system. She chooses a basketball to represent Earth. She wants her model to represent the relative sizes of all the planets and the Moon accurately.
Which of the following should Kate use to represent the Moon?
A. a marble
B. a Ping-Pong ball
C. a softball
D. a soccer ball

59. Which is a gaseous planet?
A. Jupiter
B. Mars
C. Earth
D. Venus

60. Places on Earth's surface where tectonic plates meet are characterized by
A. more severe earthquake activity.
B. long formations of sea arches.
C. stable temperate climate conditions.
D. a lack of plant and animal life.
61. Footprints made by astronauts on the Moon years ago are still there. Which reason explains this?
A. The Moon has no wind or rain.
B. Time passes much slower on the Moon.
C. The dust on the Moon hardened into stone.
D. The heavy astronauts left very deep footprints in the Moon's dust.

62. Each year, Earth moves once around
A. Mars.
B. Venus.
C. the Sun.
D. the Moon.

63. On a summer day which clouds are most likely to bring rain?
A. thin, fluffy clouds
B. red clouds at sunset
C. thick, dark-gray clouds
D. clouds that look like white sheep

64. Which planet is closer to the Sun than Earth is to the Sun?
A. Jupiter
B. Venus
C. Saturn
D. Mars

65. If you were to watch the stars all night, they would seem to
A. stay in exactly the same place in the sky.
B. move across the sky at night, as the Sun does during the day.
C. go in circles around the point straight up from where you are.
D. move across the sky at night, in the opposite direction that the Sun moves during the day.

66. What type of rock is formed by volcanic activity?
A. sedimentary
B. igneous
C. coal
D. metamorphic

67. The ozone layer protects us from
A. global warming.
B. ultraviolet radiation.
C. infrared rays.
D. harmful chemicals.
68. NASA scientists recently discovered evidence of liquid water on
A. Venus.
B. Mars.
C. Jupiter.
D. the Moon.

69. Which is made primarily of pieces of rock or iron that enter Earth's atmosphere?
A. asteroids
B. comets
C. solar flares
D. meteorites

70. Imagine you are an astronomer who just observed a huge burst of light from an exploding star. What did you most likely observe?
A. a pulsar
B. a black hole
C. a supernova
D. a meteor




71. Which planet has gases, land masses, and large amounts of surface water?
A. Earth
B. Mars
C. Pluto
D. Saturn

72. A planet has twice the mass of Earth and the same radius as Earth. If you were standing on this planet, the force of
gravity would be
A. twice that on Earth.
B. half that on Earth.
C. the same as on Earth.
D. four times greater than Earth's.

73. Which change would result in the same season year-round, everywhere on Earth?
A. Earth moving at least twice as fast in its orbit as it does now
B. enlarging the diameter of Earth's orbit until it is much farther from the Sun
C. straightening the tilt of Earth's axis to be 90° to the plane of Earth's orbit
D. changing Earth's orbit so it would always be the same distance from the Sun

74. Terry was learning about an object in the Solar System that is made of frozen gases and solid rock. Which of these objects was she learning about?
A. a star
B. a comet
C. a meteor
D. an asteroid
75. Many scientists used to accept the model that all objects in the universe revolved around the Sun. What did they
learn that made them change this model?
A. Stars do not revolve around the Sun.
B. Planets do not revolve around the Sun.
C. Comets do not revolve around the Sun.
D. Asteroids do not revolve around the Sun.

76. Why is Venus always near the Sun when viewed from Earth?
A. Venus orbits Earth, which orbits the Sun.
B. Venus orbits the Sun, which orbits Earth.
C. Venus's orbit is closer to the Sun than Earth's orbit.
D. Venus is visible only when its orbit gets close to the Sun.

77. Middle school science students in Georgia recorded the Sun's location in the sky every day at noon during September and February. Which of these MOST LIKELY describes what the students observed?
A. The size of the Sun changed.
B. The color of the Sun changed.
C. The force of gravity from the Sun changed.
D. The position of the Sun in the sky changed.

78. Juan's class is studying the Solar System. What causes the planets to orbit the Sun rather than drift off into space?
A. momentum
B. the force of gravity
C. the force of magnetism
D. heat energy from the Sun

79. The average temperature in Atlanta in June is 25oC, but the average temperature in December is 7oC. Why is the average temperature in Atlanta higher in June than in December?
A. The Sun is hotter during June than it is during December.
B. Earth is closer to the Sun in June than it is during December.
C. Earth's axis is tilted so that Atlanta gets more direct sunlight in June than in December.
D. The atmosphere in Atlanta absorbs more heat from sunlight in June than in December.
80. Look at the diagram below of the Sun, the Moon, and Earth. Which phase of the Moon would be seen by people on Earth?
[image: ]
A. full moon
B. new moon
C. waxing gibbous
D. waning gibbous

81. Look at the picture below. [image: ]
What event does the picture show?
A. full moon
B. solar eclipse
C. lunar eclipse
D. quarter moon

82. How is Saturn different from Earth?
A. Saturn is smaller than Earth.
B. Saturn is closer to the Sun than Earth.
C. Earth has a moon, while Saturn does not have any moons.
D. Earth is made mostly of rock, while Saturn is made mostly of gas.

83. Which force pulls the planets of the solar system towards the sun?
A. nuclear
B. centripetal
C. gravitational
D. electromagnetic

84. Solar eclipses rarely occur because
A. the moon usually travels directly between Earth and the sun.
B. the moon's orbit is tilted in relation to the Earth's orbit.
C. the moon usually travels directly behind Earth.
D. the moon is too close to the earth.

85. Which statement describes why the Earth has seasons?
A. Its axis is tilted as it revolves around the sun.
B. The distance changes as it revolves around the sun.
C. The moon revolves around it.
D. The sun's axis is tilted.




86. During winter months observed from Northern latitudes, the constellation Orion will rise in the East, travel across the night sky, and set in the West. Which BEST explains this observation?
A. The constellation Orion is orbiting the Sun.
B. The constellation Orion is orbiting the Earth.
C. The constellation Orion appears to move across the sky as a result of the Earth's tilt.
D. The constellation Orion appears to move across the sky as a result of the Earth's rotation.

87. Below is a summary of three historical scientific theories that model and explain our Solar System.
The geocentric solar system places the Earth at the center of the Universe with all other heavenly bodies orbiting the Earth.

The heliocentric solar system places the Sun at the center of the Solar System with all planets orbiting the Earth.

The Big Bang theory suggests the Universe was created with a single cosmic explosion. The
Universe continues to expand at an increasing rate as a result of this explosion.

Which action could prove the heliocentric model over the geocentric model?
A. Calculate the precise length of a lunar cycle.
B. Calculate the total energy remaining after the Big Bang.
C. Mathematically measure and map the precise orbits of the planets in our Solar System.
D. Calculate and compare the lengths of the planet's days based on the rise and set of the Sun.

88.[image: ]
Which lists these planets in order of INCREASING mass?
Mercury
Venus
Earth
Mars
A. Earth, Mars, Mercury, Venus
B. Mars, Earth, Mercury, Venus
C. Mercury, Mars, Venus, Earth
D. Venus, Mercury, Mars, Earth
89.[image: ]
A robotic space probe malfunctions and is lost for several years. It then lands and sends the data listed here back to the Earth.
Most Atmospheric Gas(es): CO2
Surface gravity: Less than the Earth
Mean Distance from the Sun (AU): Greater than the Earth
Where did the probe land?
A. Mars
B. Jupiter
C. Saturn
D. Venus
90.[image: ] Saturn is a very massive planet (95.2 Earth masses), yet it has a calculated surface gravity (0.92) less than that of Earth. Which is a possible explanation?
A. Saturn has a GREATER orbital period.
B. Saturn has a GREATER mean distance from the Sun.
C. Saturn has the MOST prominent rings in the solar system.
D. Saturn's MOST abundant elements are the very light H2 and He.
91. [image: ]As you INCREASE the mean distance from the Sun, you also INCREASE the
A. mass.
B. density.
C. orbital period.
D. surface gravity.
92. Gravity is the force that governs the planets' motion around which celestial body?
A. the sun
B. the earth
C. the galaxy
D. the galaxy

93. [image: ]
You observe the moon one night at midnight while camping, as seen in the image. Predict the location of the Moon in the diagram based on this observed moon phase.
A. A
B. B
C. C
D. D

94. [image: ]Based on the observed phase of the moon, predict the location of the Moon in its orbit around the Earth.
A. A
B. B
C. C
D. D

95. [image: ]Predict the location of the Moon during a solar eclipse.
A. A
B. B
C. C
D. D

96.[image: ]
The Earth rotates on its axis at a tilt of 23.5°. The diagram displays the Earth during the summer in the Northern hemisphere. Predict the climate change if the tilt was INCREASED to 30.0°.
A. Northern hemisphere summers would be shorter in duration.
B. Northern hemisphere summers would be longer in duration.
C. Northern hemisphere summers would be cooler in temperature.
D. Northern hemisphere summers would be warmer in temperature.

97. The distance between which of these is the shortest?
A. Earth and sun
B. Moon and sun
C. Earth and Mars
D. Earth and moon
98.[image: ]According to this chart, which planet will most likely have the highest temperatures?
A. Earth
B. Mars
C. Mercury
D. Venus


99. During which portion of the Earth's revolution around the sun is the Northern Hemisphere tilted toward
the sun?
A. Vernal equinox
B. Summer solstice
C. Autumnal equinox
D. Winter solstice
100. During which of these phases of the moon will the tides be highest? [image: ]
101. Which planet has a fierce hurricane-like storm that is several times the size of Earth?
A. Mars
B. Venus
C. Saturn
D. Jupiter
102.[image: ]The larger the mass of a planet, the greater the pull of gravity on that planet's surface. According to the
information in the chart, which of these planets has a mass closest to the Earth's mass?
A. Mercury
B. Venus
C. Mars
D. Jupiter
103. Which of these best shows that the Earth revolves around the sun as the moon revolves around the Earth? [image: ]
104. Which body in the solar system usually contains an atmosphere?
A. An asteroid
B. A planet
C. A meteor
D. A comet

105. Which of these resources would give the most current, complete and accurate information on planets?
A. Planet website by Round Rock Middle School
B. The NASA website
C. A set of general encyclopedias
D. A science book about the planets


106. The force that holds the planets in orbit around the sun is called —
A. motion.
B. friction.
C. pressure.
D. gravity.
107. Which of these will cause the greatest high tides?
A. F.
B. G.
C. H.
D. J.
 [image: ]

108. Which of the following best describes Earth's orbital position in our solar system?
A. Outside of three smaller planets
B. Outside of the gas giants
C. An outer planet
D. An inner planet
109. [image: ]Based on the drawing above, what is the main reason that Venus would appear brighter at point Q rather than at point R as seen from the Earth?
A. The planet is closer to the Earth at point Q than at point R.
B. More of the visible side of the planet is illuminated at point Q than at point R.
C. The planet appears overhead against a dark sky when it is at point Q but not at point R.
D. Light from the planet at point Q is less affected by the sun's gravity than at point R.

110. How is the Earth different from all of the other planets?
A. It has a breathable atmosphere.
B. It has a rocky surface.
C. It is warmed by the sun.
D. It rotates on its axis.





















Geology (99 Questions)
[image: http://moodle2.cvuhs.org/pluginfile.php/27824/course/section/6900/Geology.jpg]
[image: http://hilo.hawaii.edu/~geology/i/slides/s.jpg]
[image: http://cf.ltkcdn.net/jobs/images/std/86187-347x346-Become-geologist.jpg]
Standards
S6E5. Students will investigate the scientific view of how the earth’s surface is formed.
S6E6. Students will describe various sources of energy and with their uses and conservation.


1. Ricardo has an igneous rock in his rock collection. Where did this rock most likely form?
A. in a volcano
B. on a forest floor
C. on a coral reef
D. at the bottom of a river

2. Cleavage of a mineral is related to a mineral's
A. chemical composition.
B. streak color.
C. luster.
D. crystalline structure.

3. High temperatures inside Earth form
A. melted rock.
B. fossils.
C. soil.
D. minerals.

4. Use the Mercalli scale below to answer this question.

Scale Felt Intensity
2 Lamps swing
4 Dishes and windows break
6 Chairs, beds, table move
8 Walls collapse
10 Roads crack, landslides
12 Total destruction

You are eating dinner when the lamp above the table begins to swing. After a few seconds it stops. According to the Mercalli scale, how strong was the earthquake you felt?
A. magnitude 2
B. magnitude 4
C. magnitude 6
D. magnitude 8







5. The diagram below shows the earthquake risks in a particular region. To minimize the damage to buildings during an earthquake, where should new buildings be built? [image: ]
A. region A
B. region B
C. region C
D. region D

6. Which kind of rock is formed when volcanic lava cools?
A. sedimentary
B. metamorphic
C. igneous
D. magma

7. A student wants to study how igneous rock changes to sedimentary rock. Is this a good project if the student needs
to complete the study within a month?
A. Yes because the changes will happen quickly and be significant.
B. Yes because the changes will be easily observed since they are very obvious.
C. No because the difference between igneous rock and sedimentary rock is not noticeable.
D. No because the changes will take much longer than a month to occur.

8. Sedimentary rocks are not found on the Moon because
A. there is no silicon on the Moon.
B. lava flows are missing from the surface.
C. the Moon's gravity is too weak.
D. there is no weathering on the Moon

9. Areas on Earth's surface that lie above the borders of tectonic plates are characterized by
A. frequent earthquake activity.
B. lengthy formations of sea arches.
C. stable temperate climate conditions.
D. a lack of plant and animal life.

10. When Joe saw the Rocky Mountains for the first time, he exclaimed, "These mountains are much younger than ours back East!" Which feature supports his conclusion that the Rockies were relatively young mountains?
A. They have rounded tops.
B. Their sedimentary layers are still exposed.
C. Weathering has not yet hardened the rock.
D. They have sharp peaks.

11. Rocks found on Earth are generally classified as sedimentary, metamorphic, or igneous. On which basis are these
classifications made?
A. where the rocks are found
B. how the rocks were formed
C. the color and shape of the rocks
D. the chemical composition of the rocks

12. The formation of metamorphic rocks depends on all of the following except
A. the composition of the parent rocks.
B. Earth's magnetic field.
C. temperature.
D. pressure.

13. When rocks undergo weathering, they become
A. magma.
B. igneous rocks.
C. sediment.
D. volcanic cones.

14. Sedimentary rocks can be converted into magma by undergoing which of the following processes?
A. weathering and erosion
B. cooling and crystallization
C. heat and pressure
D. compaction and cementation


15. Areas on Earth's surface that lie above the places where tectonic plates meet are characterized by
A. frequent earthquake activity.
B. lengthy formations of sea arches.
C. stable, temperate climate conditions.
D. a lack of plant and animal life.

16. What type of rock results from the cooling of lava from a volcano?
A. sedimentary
B. bituminous
C. igneous
D. metamorphic

17. Which feature would be very unusual if it were found somewhere on Earth's surface?
A. a volcano under the sea
B. a large, nonvolcanic mountain on a flat plain
C. a mountain range near the seacoast
D. a deep underwater gorge near a continental shelf

18. Which of these statements about Earth's crust is true?
A. It is a layer of solid rock that remains the same throughout time.
B. It includes the continents, but not the ocean floor.
C. It is a changing, moving surface with the same thickness everywhere.
D. It is a system of large masses called plates that slowly move together or apart.

19. What can we learn by studying fossils?
A. how Earth's environments have changed
B. how the solar system was formed
C. how strong earthquakes are caused
D. how hurricanes formed long ago

20. Which is not part of the definition of a mineral?
A. naturally occurring
B. definite composition
C. solid
D. organic

21. Igneous rocks are classified by where they are formed. Which type of igneous rock forms underground?
A. extrusive
B. intrusive
C. volcanic
D. ash

22. Igneous rocks form from
A. sediment.
B. mud.
C. gravel.
D. magma.

23. When magma reaches Earth's surface it becomes
A. gas.
B. steam.
C. energy.
D. lava.

24. Which is a mineral?
A. glass
B. graphite
C. magma
D. marble

25. Compared to rocks in Earth's crust, rocks in the mantle are more
A. dense.
B. mineral-rich.
C. granular.
D. porous.

26. Some of Earth's rocks are formed by the cooling of a molten material called
A. magma.
B. ore.
C. coal.
D. lime.

27. What type of rock is sandstone?
A. igneous
B. metamorphic
C. ferromagnetic
D. sedimentary

28. Extrusive rocks are formed by
A. magma cooling on Earth's surface.
B. pressures inside Earth.
C. the attraction of magnetic particles.
D. tidal deposits of sediment.

29. Use the pie section below to answer this question. [image: ]
The pie section shows Earth's composition from the center to the surface. Section IV is most likely composed of
A. molten iron.
B. granitic rock.
C. solid iron.
D. basalt.

30. Most modern cities obtain their drinking water from
A. surface reservoirs.
B. rivers and streams.
C. underground reservoirs.
D. desalinated ocean water.

31. Which would be least helpful to scientists trying to find evidence that Earth is very old?
A. observing fossils
B. measuring radioactivity in rocks
C. examining continental drift
D. recording animal migration

32. Rocks are affected by heat and pressure. One source of this pressure is
A. energy from the Sun.
B. burning of fossil fuels.
C. the mass of overlying rocks.
D. the decomposition of organic materials.

33. There are several different layers in the soil along a bank of a creek. Two fossils are found in the bank, one near the bottom of the bank, close to the creek, and one higher up near the top. It can probably be said that the
A. fossil found near the bottom is older than the fossil found near the top.
B. fossils are about the same age since they were found along the same creek.
C. fossils could not have come from the same animal since they were separated.
D. two different fossils are evidence of how animals adapt to their environment over time.

34. A fossil of an ocean fish was found in a rock outcrop on a mountain. This probably means that
A. fish once lived on the mountain.
B. the relative humidity was once very high.
C. the mountain was raised up after the fish died.
D. fish used to be amphibians like toads and frogs.

35. Use the map below to answer this question. [image: ]
The contour lines on this map indicate
A. elevation.
B. climate.
C. soil composition.
D. rainfall.

36. A deep well or mine shaft goes through which layer or layers of Earth?
A. crust only
B. mantle only
C. crust and mantle
D. mantle and core

37. A boundary where two tectonic plates come together, or collide, is called a
A. divergent boundary.
B. convergent boundary.
C. transform boundary.
D. transfer boundary.

38. Earth's core is mainly composed of
A. iron and aluminum.
B. silicon and hydrogen.
C. iron and nickel.
D. silicon and oxygen.


39. Which accurately describes the relationship between earthquakes and volcanoes?
A. Earthquakes usually cause volcanoes to erupt.
B. Volcanic eruptions usually cause severe earthquakes.
C. Earthquakes and volcanoes often are located where tectonic plates meet.
D. Earthquakes and volcanoes are not related in any way.

40. Which statement describes uniformitarianism?
A. In an undisturbed layer of rock, older rocks lie at the bottom and younger rocks lie at the top.
B. The forces that act to change Earth's surface today are the same forces that acted upon Earth's surface in the past.
C. The continents at one time were all part of a large landmass, but then they separated and moved apart.
D. Layers of sedimentary rock contain more fossils than layers of metamorphic or igneous rock.

41. To find the absolute age of the fossil shells, the geologist would use
A. satellite imagery.
B. radioactive isotopes.
C. seismic mapping.
D. magnetic resonance imaging.

42. Use the chart below to answer this question.
[image: ]
Susan wants to identify a dark, heavy mineral sample she found in the classroom collection. She notices there are three minerals in a chart in a reference book that might match her sample.
Susan next observes that her sample mineral has flat, reflective surfaces that break into boxlike steps. She infers the mineral may be galena. If she is correct, one more test will verify her inference. Which property would to best for her to observe next?
A. hardness
B. luster
C. streak
D. color

43. Use the map below to answer this question. [image: ]

Which is the highest point on the map?
A. point A
B. point B
C. point C
D. point D

44. What is the primary cause of volcanoes and earthquakes?
A. crustal plate movement
B. Earth's gravitational force
C. higher than usual tides
D. solar magnetic storms

45. The major process that wears down whole mountain ranges is
A. earthquakes.
B. weathering.
C. plate movement.
D. silt deposition.

46. The San Andreas Fault in Mexico and California is watched carefully for signs of an expected earthquake. Why do scientists think an earthquake might happen there?
A. The chances of a major earthquake in California have increased greatly because there has been so much 3construction there.
B. Everyplace on Earth's crust has a probability of earthquakes and the San Andreas Fault has never had one.
C. The San Andreas is a known major fault where pressure for lateral movement has been building for many years.
D. The San Andreas Fault is the line that divides the part of California that is sinking into the Pacific Ocean.
47. How do scientists know that dinosaurs and horses did not exist in the same geological eras?
A. Dinosaurs would have destroyed any mammals, including horses.
B. Horses would have become extinct along with dinosaurs.
C. There are no rock layers that have fossils of both dinosaur and horse remains.
D. Horse fossils are found only in rock layers below layers with dinosaur fossils.

48. Granite is a kind of
A. energy.
B. fossil.
C. rock.
D. mineral.

49. When limestone is exposed to enough heat and pressure, it goes through physical changes. These changes can turn limestone into a different kind of rock called marble. Which of these BEST describes marble?
A. It is an igneous rock.
B. It is a synthetic rock.
C. It is a sedimentary rock.
D. It is a metamorphic rock.

50. How do active volcanoes located on islands create more land area on these islands?
A. Lava from volcanoes cools and hardens, forming more land.
B. Lava from volcanoes melts through old rocks, exposing more land.
C. Heat from volcanoes causes the ocean to evaporate, exposing more land.
D. Heat from volcanoes causes minerals in seawater to condense, forming more land.

51. The surfaces of old concrete statues are often covered with small holes or pits. Which of these MOST LIKELY causes these holes or pits?
A. Long exposure to sunlight causes the pits to form.
B. The concrete is chemically weathered by acid rain.
C. The concrete is chipped away by sand particles blown by strong winds.
D. The concrete becomes pitted as water freezes in small cracks in the statue.
52. What is the MAIN reason that the continents look very different than they did 100 million years ago?
A. Ocean currents have constantly reshaped the continents.
B. Volcanoes have made and destroyed many of the continents.
C. The continents have drifted apart from one another on lithospheric plates.
D. Waves and wind have caused parts of continents to erode into the ocean.

53. Magma pushes up from the mantle in the middle of the Atlantic Ocean. As a result, the Atlantic Ocean is growing by several centimeters each year. How else has this magma affected the Atlantic Ocean?
A. It has produced a flat, smooth ocean floor as the continents separate.
B. It has created a long, large mountain range below the ocean's surface.
C. It has produced volcanoes along the edges of the separated continents.
D. It has made the Atlantic waters much warmer than the Pacific Ocean waters.

54. Fossils of a particular animal species have been found in both southern Africa and South America but nowhere else. [image: ]
Which of the following is MOST LIKELY the reason why?
A. The fossils evolved into different organisms.
B. The climate changed and became much colder.
C. In the past, Africa and South America were part of the same continent.
D. In the future, Africa and South America will be part of the same continent.

55. Students in a science class examined an unknown material. They found that it was made of four main components. They recorded the percent of each component in the graph below. [image: ]
Based on this evidence, what is the unknown substance?
A. soil
B. quartz
C. concrete
D. igneous rock

56. Burning fossil fuels may be causing Earth's temperature to increase. How could an increase in global temperature cause erosion of land along shorelines?
A. Ocean levels could rise.
B. Snowfall could increase.
C. More plants could grow.
D. High winds could remove soil.

57. Many cities allow people to water their lawns only during the evening or early morning. Why do the cities prevent people from watering during the day?
A. to reduce erosion
B. to conserve water supplies
C. to prevent damage to the soil
D. to ensure the grass gets enough water

58. Which of these objects was made from a nonrenewable resource?
A. paper bag
B. motor oil
C. cotton shirt
D. wooden table

59. Farmers prefer to plant crops in soil that is rich in nutrients. Which of these soil types would MOST LIKELY contain the most nutrients?
A. soil that has many large rock particles in it
B. soil that allows water to drain very easily through it
C. soil with a bedrock that is very close to the surface
D. soil with a lot of decomposed organic material in it

60. What landform is created when two continental plates collide?
A. mountain range
B. ocean basin
C. volcano
D. canyon

61. Many places on Earth are shaken by earthquakes. The Pacific Coast of the United States is one such area. What causes these earthquakes?
A. erosion
B. gravity
C. solar heating
D. plate movement

62. Most soil has which of these materials?
A. plastic
B. fertilizer
C. red clay
D. weathered rock

63. What is found in areas on Earth's surface that are located directly above the borders of lithosphere plates?
A. huge deposits of magma
B. lack of plant or animal life
C. frequent earthquake activity
D. stable and unchanging landforms

64. Most earthquakes and volcanoes occur in areas of the Pacific Ocean called "The Ring of Fire." What is the main reason for this?
A. Large numbers of people live in this area.
B. That area of the Earth is hotter than any other area.
C. Lithosphere plate boundaries are found in that area.
D. The weight of the ocean water forces magma to the surface.

65. Over the last 5,000 years Georgia's landscape has changed greatly due which of the following physical processes?
A. faulting and earthquakes
B. water deposition and erosion
C. glacial deposition and erosion
D. upheaval and mountain building

66. Scientists believe the Earth's inner core to be solid. This is probably due to extremes in:
A. depth.
B. density.
C. pressure.
D. temperature.

67. The average density of one of the continental crusts is 2.8 g/cm3 and the average density of one of the oceanic crusts is 3.2 g/cm3. If these two plates came together, what could be expected to happen?
A. The two plates would push apart and form a rift zone.
B. The oceanic plate would rise up over the continental plate.
C. The oceanic plate would be pushed under the continental plate.
D. The two plates would meet head on and rise up to form mountains.

68. If we compare the temperature and pressure of the Earth's mantle to the core, what differences can we expect as we move downward into the Earth?
A. Both the temperature and pressure increase.
B. Both the temperature and pressure decrease.
C. The temperature decreases and the pressure increases.
D. The temperature increases and the pressure decreases.

69. In December, 2004, an earthquake registering 9.0 on the Richter scale was recorded off the far off  coast of Sumatra. What is a common secondary effect of this type of earthquake?
A. a tsunami
B. a tornado
C. global warming
D. volcanic activity

70. Soils have four basic components. What important soil component is a by-product of the action of decomposers like bacteria and fungus?
A. silt
B. humus
C. minerals
D. air space

71. In cold climates rocks are broken into pieces by the action of water. This process that breaks down rocks and helps form soil can best be explained as
A. leaching of minerals from the rock.
B. decomposition due to the action of ice crystals.
C. chemical weathering due to water reacting with calcite.
D. mechanical weathering due to alternate freezing and thawing.

72. Chemical weathering of rocks occurs and helps to form soils. Which of the following is an agent of chemical weathering?
A. acid rain
B. freezing and thawing
C. tree roots growing through rocks
D. rocks tumbling in a stream or river

73. During a summer vacation in Hawaii, Carlos found several rock samples to share with his Earth Science class. Most of the rocks were black, containing only few light-colored crystals. All of the crystals were large and the rocks had a coarse texture. Based on this information which of the following statements is true about the rocks Carlos found?
A. The rocks were obsidian.
B. The rocks were extrusive.
C. The rocks were intrusive.
D. The rocks were metamorphic.

74. Because of the long drought, hay is in short supply and Farmer Brown is letting his cattle over-graze his pastures.
Because of the over-grazing, what should he predict will happen?
A. The soil will become more fertile.
B. The grass in the pasture will grow faster.
C. The soil will be eroded by wind and water.
D. The soil will become water soaked in the spring.

75. Farmer Brown has cut down a stand of pine trees so he can plant corn in the spring. What would be a practical solution to help stop soil erosion during the fall and winter when the corn is not growing?
A. He could let cows graze in the field.
B. He could dig a pond next to the corn field.
C. He could surround the corn field with shrubs and a fence.
D. He could plow the corn under and then let the field lay dormant.

76. Fossils of marine plants and animals were found high above sea level in the Himalayan Mountains. What does this
fossil evidence tell us about the past of that mountainous area?
A. Sea level was much higher.
B. Many volcanoes erupted in that location.
C. The area was once sediment under the ocean.
D. The area was once part of another continent.

77. [image: ]Over time, this rocky cliff will become many smaller rocks and eventually sand particles. This is due to which process?
A. erosion
B. deposition
C. weathering
D. evaporization

78. The ozone layer protects life on Earth from the sun's harmful ultraviolet rays. This protective shield has been depleted by man-made chemicals deposited in our atmosphere.
How can we help slow down the ozone depletion in Earth's upper atmosphere?
A. decrease CFC emissions from aerosol cans
B. decrease carbon dioxide emissions from cars
C. decrease particulate pollution from factories
D. decrease carbon monoxide emissions from combustion

79. Global warming is the increase in the Earth's average surface temperature and is partly caused by human activity.
What can we do to help slow global warming and reduce air pollution?
A. buy cars with hybrid gas-electric engines
B. increase the use of coal burning power plants
C. increase SUV use throughout the United States
D. replace fluorescent lights with incandescent bulbs

80. Which is one practical way homeowners can conserve water?
A. Re-use waste water for drinking.
B. Use drip irrigation to water the lawn.
C. Use native plants in the home landscape.
D. Collect rainwater for irrigation of landscape plants and grass.

81. Tropical rain forests are being cut down to create farms and pastures, and to harvest trees for construction. What has this type deforestation increased?
A. soil erosion
B. soil moisture
C. fertilizers
D. microorganisms

82. Which type of rock is most likely to be formed by the cooling of magma underground?
A. sandstone
B. limestone
C. granite
D. shale

83. Limestone is a sedimentary rock found in South Georgia and North Florida. Limestone is easily weathered and eroded because the main mineral found in limestone reacts acid rain and ground water. What type of mineral likely makes up limestone?
A. calcite
B. gypsum
C. quartz
D. silica

84. This intrusive igneous rock is dark in color and contains minerals that are high in iron and magnesium. Based on this information, what type of igneous rock is this?
A. slate
B. gabbro
C. obsidian
D. rhyolite

85.[image: ] Layer C in the diagram has the greatest temperature and pressure. It is MOST LIKELY Earth's
A. atmosphere.
B. crust.
C. mantle.
D. core.

86. [image: ]Layer A in the diagram has the lowest temperature and pressure. What part of the Earth is labeled layer A?
A. the atmosphere
B. the crust
C. the mantle
D. the core

87. Humus, silt, clay, and sand are all parts of —
A. soil.
B. fungi.
C. rocks.
D. plants.

88.[image: ] This landform was probably caused by —
A. high tides.
B. wind.
C. human activity.
D. running water.

89. Students want to identify a rock in a nearby field. Which of the following properties would be most useful in identifying the unknown rock?
A. Color
B. Smell
C. Mineral content
D. Specific weight

90. What is located beneath soil layers?
A. Bedrock
B. Humus
C. Lava
D. Tundra

91. Organic matter in soil is made from —
A. weathered parent rock.
B. decayed plants and animals.
C. acid rain.
D. carbon dioxide.

92. Extrusive rocks have small grains because they —
A. cool quickly.
B. harden underground.
C. contain rare minerals.
D. have a rough mixture.

93. [image: ]
The diagram shows layers of sedimentary rocks and examples of their fossils. Which layer contains the oldest
fossils?
A. 1
B. 2
C. 3
D. 4

94. Barrier islands are low and narrow sandy islands that form a rim offshore from a coastline. These islands protect inland shores from the surf, especially during storms. These islands are becoming increasingly developed because people want to live by the open ocean, yet the islands themselves are not permanent. Why aren't the islands permanent?
A. People develop the islands and remove sand during housing construction.
B. Offshore earthquakes cause the islands to sink below sea level.
C. The wind and the waves are constantly redistributing the sand.
D. Development companies mine the sand for use in inland construction projects.

95. Which of the following most likely results in the formation of a fossil?
A. A Mesozoic clam lies exposed on the surface of the sea floor.
B. A Mesozoic clam is washed up onto the beach.
C. A Mesozoic clam is eaten by a large predatory fish.
D. A Mesozoic clam is buried by a mudslide.

96. The pictures show different stages in the development of a river valley. Which picture shows the first stage of development? [image: ]

97. The Earth's surface can change either quickly or slowly. Which of these can happen when rocks and soil in the Earth move suddenly?
A. Landslides
B. Tornadoes
C. Hurricanes
D. Blizzards

98. Recycling and reusing are very important ways to help people —
A. save natural resources.
B. clean up their homes.
C. make soil for plants.
D. kill harmful germs.

99. Which of these is NOT a part of soil?
A. Humus
B. Bits of rock
C. Clay
D. Plastic
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Standards
S6E3. Students will recognize the significant role of water in earth processes.

S6E4. Students will understand how the distribution of land and oceans affects climate and weather.

S6E6. Students will describe various sources of energy and with their uses and conservation.







1. An air mass forms over the Gulf of Mexico and moves northeast across Georgia. What weather conditions are likely to prevail in Georgia?
A. cool and dry
B. cool and humid
C. warm and dry
D. warm and humid

2. What technology is used to measure the depth of the ocean?
A. submarines
B. radar
C. telescopes
D. sonar

3. Which is the warmest climate zone?
A. Arctic Zone
B. Temperate Zone
C. Tropical Zone
D. Intermediate Zone

4. On most ocean shorelines, the water rises slowly and covers the land twice a day. Then it slowly falls back. What is
this movement called?
A. current
B. wave
C. tide
D. drift

5. Ocean water differs from freshwater in that it has
A. a higher temperature.
B. a lower temperature.
C. a higher concentration of sodium chloride.
D. a higher concentration of silicon dioxide.

6. Cold air masses that form at high latitudes are called
A. polar air masses.
B. continental air masses.
C. warm air masses.
D. maritime air masses.

7. Nearly 100 years ago, a large volcano erupted in the South Pacific. The following year, some northeastern cities in
the United States recorded measurable snowfall every month of the year. Most of the Northern Hemisphere experienced a cold summer. Which explains how these events were related?
A. The eruption temporarily intensified the greenhouse effect.
B. Thermal energy released during the eruption caused a decrease in Earth's total heat energy.
C. The eruption damaged the ozone layer, causing a decrease in the amount of solar energy reaching Earth.
D. Atmospheric dust from the eruption caused a decrease in the amount of solar energy reaching Earth.

8. In some years there are more hurricanes than usual. This is probably because
A. the ocean is warmer than usual.
B. the ozone layer is very thin.
C. there are more windy days than usual.
D. the gravitational pull of the Moon is stronger.

9. At the seashore late in the afternoon on a hot, sunny day, a person often feels a strong breeze coming in from the ocean. Which of the following is the reason for the breeze?
A. The pounding waves generate air currents.
B. The warm air over the ocean rushes in to replace the cool air that rises over the land.
C. The heavy, cool air over the ocean rushes in to replace the warm air that rises over the land.
D. There are no clouds to block the wind coming in from the ocean.

10. Which contains the greatest amount of Earth's freshwater?
A. groundwater
B. oceans and seas
C. lakes and rivers
D. glaciers and polar ice cap

11. Most water vapor in the atmosphere comes from
A. evaporation from oceans.
B. evaporation from soil.
C. transpiration from plants.
D. the burning of fossil fuels.

12. One way the North Atlantic Ocean is different from the South Pacific Ocean is that the North Atlantic has
A. a greater average depth.
B. a higher average pressure.
C. a larger average concentration of salt.
D. a lower average temperature.

13. Suppose you are swimming in a lake when a thunderstorm approaches. Which of the following would be the best way to protect yourself from lightning?
A. diving underwater
B. going fishing instead of swimming
C. taking shelter in an automobile
D. taking shelter under a tree

14. Dew is formed by
A. the condensation of water vapor.
B. frost melting just before sunrise.
C. groundwater being pulled to Earth's surface.
D. transpiration performed by plants.

15. The salts in the sea come from
A. weathering and erosion of rocks.
B. acid rain.
C. particles falling from space.
D. organisms that live in the sea.

16. Which term refers to the area at the seashore that is underwater during high tide and exposed during low tide?
A. intertidal zone
B. neritic zone
C. open-ocean zone
D. mid-ocean zone






17. There are three major zones in the ocean: the surface, the middle, and the ocean floor. Which form of ocean life
lives mainly in the middle zone?
A. plankton
B. coral
C. nekton
D. benthos




18. What are the two dominant elements in Earth's atmosphere?
A. oxygen and carbon dioxide
B. hydrogen and helium
C. nitrogen and oxygen
D. silicon and hydrogen

19. Which of the following is typical of a tropical climate?
A. cold, dry air
B. cool, moist air
C. hot, dry air
D. warm, moist air

20. Large, dark clouds that produce thunderstorms are called
A. stratocumulus clouds.
B. cirrostratus clouds.
C. altocumulus clouds.
D. cumulonimbus clouds.

21. Which process is most important to the water cycle?
A. flooding
B. erosion
C. evaporation
D. farm irrigation

22. During the water cycle, when water vapor changes to liquid water, it is called
A. evaporation.
B. condensation.
C. freezing.
D. boiling.

23. Janet designed an experiment to determine whether the depth of water in a container had an effect on how quickly
the water evaporated. In order to carry out her experiment, which variable would Janet need to change?
A. the amount of water in the container
B. the width of the container
C. the location of the container
D. the material the container is made of

24. Which two physical changes are essential processes in the water cycle?
A. oxidation and reduction
B. evaporation and condensation
C. mixing and separating
D. ebbing and flowing

25. Which of these would MOST LIKELY occur if the rate of evaporation over the ocean were to decrease for an
extended length of time?
A. The sea level would fall dramatically.
B. Ocean currents would reverse their directions.
C. The amount of precipitation on land would decrease.
D. Harmful chemicals would be formed in the atmosphere.

26. Which of these BEST describes the cause of waves in the ocean?
A. high and low tides
B. evaporation of water
C. wind blowing across the surface of the ocean
D. ridges and trenches on the bottom of the ocean

27. Water on Earth is found naturally as a solid, a liquid, and a gas. Where is MOST of the solid water on Earth?
A. deep in Earth's mantle
B. in Earth's polar regions
C. in the outer atmosphere
D. at the bottom of the ocean









28. There are many bodies of water in or next to Georgia, including Lake Blackshear and the Atlantic Ocean. What is MOST LIKELY a difference between the water in Lake Blackshear and the water in the Atlantic Ocean?
A. The water in Lake Blackshear is always much colder than the water in the Atlantic Ocean.
B. The water in the Atlantic Ocean is part of the water cycle, but the water in the Lake Blackshear is not.
C. The water in Lake Blackshear comes from rivers, while the water in the Atlantic Ocean comes from rain.
D. The water in the Atlantic Ocean contains more dissolved minerals than the water in Lake Blackshear.

29. Ridges, tectonic plate boundaries, and hydrothermal vents are physical features found on our planet. Where are these features found MOST OFTEN?
A. in the middle of huge lakes
B. around the edges of deserts
C. at the bottom of Earth's oceans
D. on top of mountains on continents

30. Why are tides continually rising and lowering every day?
A. because deep ocean currents are constantly changing
B. because the position of the Moon is constantly changing
C. because rates of evaporation and precipitation are constantly changing
D. because the direction of the wind over the ocean is constantly changing

31. Why does the ocean cover different amounts of the beach at different times of the day?
A. because the Moon's gravity pulls the ocean, causing it to rise and fall
B. because Earth wobbles as it rotates, causing the ocean to rise and fall
C. because ocean currents change, adding sand to and removing sand from the beach
D. because the sand is able to absorb more water as the temperature increases, lowering the ocean level

32. Which of these BEST explains the reason that thunderstorms are likely to form on a hot day?
A. Warm, humid air rises quickly and then cools.
B. As air slowly rises it loses humidity and causes rain.
C. The air is usually calm and allows the clouds to form.
D. The air rises quickly and forms low-level cloud layers.

33. Yvette was looking at a map that showed where hurricanes had formed. She noticed that more hurricanes formed over tropical oceans than over colder ocean areas. Which of these BEST explains why more hurricanes form over tropical oceans than cold oceans?
A. Air has less moisture over tropical oceans than over cold oceans.
B. Air has more moisture over tropical oceans than over cold oceans.
C. Water has more waves in tropical oceans than in colder oceans.
D. Water has fewer currents in tropical oceans than in colder oceans.

34. El Niño is an ocean current that is warmer than normal and recurs every few years in the Pacific Ocean. What effect would warmer waters have on weather along the Pacific Coast of the United States?
A. The wind speeds over water would decrease.
B. The air temperatures over land would decrease.
C. Less water would evaporate into the atmosphere and cause a drought.
D. More water would evaporate into the atmosphere and lead to more rain.

35. Meteorologists often look at differences in air pressure when they are trying to predict the weather. Why do these differences occur?
A. The Sun heats different places at different rates.
B. The Moon's gravity has a different strength at different places.
C. Earth's rotation makes different places move at different speeds.
D. Volcanoes add different amounts of heat and gas to the air in different places.

36. The picture below shows a large rock and a container of water. The rock and the water have the same mass and temperature. [image: ]

What will MOST LIKELY happen when the rock and the water receive the same amount of heat energy?
A. The water will transfer heat to the rock.
B. The rock will transfer heat to the water.
C. The temperature of the rock will rise faster.
D. The temperature of the water will rise faster.


37. [image: ] Seattle, Washington is a highly populated city surrounded by the Pacific coast in the Northwest United States.
Bismarck, North Dakota is a highly populated city in the North Central United States. They are both located at about the same latitude. Why does Seattle experience much less severe winters than Bismarck?
A. Cold air masses settle away from bodies of water.
B. It is warmer in the central part of the United States.
C. The Pacific Ocean releases heat and keeps Seattle warmer.
D. Seattle is slightly closer to the sun during the winter months.

38. While visiting the beach during summer vacation, a sea breeze keeps you cool and comfortable during the hottest part of the day. Which BEST explains why this happens?
A. warm air rising over land allows cooler air from the ocean to blow inland
B. cool air rising over land allows warm air from the ocean to blow inland
C. there are similarities in temperature between the land and the water
D. a storm is approaching

39. At a beach, the water and sand are not absorbing and losing heat equally. Which is MOST LIKELY to occur?
A. rain
B. snow
C. wind
D. humidity

40. Which statement about Earth's heating patterns is true?
A. The rate of cooling depends on the season.
B. Large bodies of water cool more quickly than land.
C. Land cools more quickly than large bodies of water.
D. Land and large bodies of water cool at the same rate.

41. Which event will occur next in this series of meteorological events at an oceanfront town?
1. Bright, sunny day
2. Night falls
3. Land and ocean begin to lose stored heat from sun
4. One (land or ocean) first reaches a temperature that is equal to the one of its surrounding
5. High pressure front moves in over the land
A. cool land breeze
B. cool sea breeze
C. warm land breeze
D. warm sea breeze

42. Warm air rising at the equator and cold air sinking at the poles is one reason for which event?
A. hurricanes
B. Coriolis force
C. earth's rotation
D. convection currents


43. What is the cause of most ocean surface currents?
A. gravity
B. the wind
C. the moon
D. upwellings

44. Ocean waves are created by all of the following except one. Which factor creates currents, not ocean waves?
A. the wind
B. earthquakes
C. the moon's gravity
D. density differences

45. Which factor is MOST important in determining how much groundwater can be stored in underground rock?
A. the rock's location
B. the rock's porosity
C. the rock's hardness
D. the rock's geologic age

46. Jennifer measured the temperature difference between two areas located next to each other. She did this at four locations. Which location is MOST LIKELY to have the strongest winds?
A. lake and river
B. forest and field
C. pond and stream
D. ocean and beach

47. Jordan researched the hourly temperatures of an ocean and a land mass near each other. Each morning Jordan discovered the ocean and land had a similar temperature. For the rest of the day the sun continues to warm the ocean and land. During the day, which direction will the wind MOST LIKELY blow?
A. toward the land
B. toward the ocean
C. the air will remain still
D. Jordan does not have enough data to tell.

48. When ice forms in the oceans, what happens to the water found directly underneath the newly formed ice?
A. it becomes colder
B. it becomes warmer
C. it becomes denser
D. it becomes more salty

49. What are mid-ocean ridges?
A. They are areas where tectonic plates meet.
B. They are narrow valleys that run along the bottom of the oceans.
C. They are areas underwater where thick layers of sediment have accumulated.
D. They are areas of underwater mountain chains located near many active volcanoes.

50. Tropical seas have a high rate of evaporation. Because of this, the water in tropical seas will have higher:
A. wave crests.
B. amounts of algae.
C. daily temperatures.
D. salt concentrations.

51. What is the main cause of ocean tides?
A. energy from the sun
B. rotation of the earth
C. change in water temperature
D. gravitational pull of the moon

52. Oceans contain many dissolved elements like calcium, sodium, and chlorine and these elements plus others combine to form the salts in the oceans. Which of the following sources is a major source of calcium and sodium in oceans?
A. gases from active volcanoes
B. weathering and erosion of rocks
C. pollutants from industrial wastes
D. acid rain caused by air pollution

53. Only 3% of the water on Earth is freshwater. About 60% of that water is not available for man's use. Why is this?
A. it is frozen
B. it is polluted
C. it is too salty
D. it is in aquifers









54. Humid, tropical air rises over the Atlantic Ocean near the equator. As the air rises it begins to circulate counterclockwise. A low pressure system develops and the storm soon has winds reaching over 120 km/hour.
What is this storm system called?
A. cyclone
B. tornado
C. tsunami
D. hurricane

55. As residents of Georgia, our weather is often influenced by air masses that start over the Gulf of Mexico. What type of air masses should we expect from the Gulf of Mexico?
A. hot and dry air
B. warm and dry air
C. warm and humid air
D. cool and humid air

56. What two conditions are necessary for frost to form?
A. The air is saturated with water and the temperature drops quickly.
B. The air is saturated with water and the temperature is 0oC or less.
C. The air is saturated with water and the temperature is 0oC or above.
D. The air is saturated with water and the temperature is gradually warming up.

57. It is a warm summer night. The relative humidity is 100%. From dusk until dawn, the air temperature drops from 32oC to 18oC. What would you expect to see in the morning?
A. dew
B. frost
C. clouds
D. thunderstorms

58. At the start of a hurricane, strong winds blew over the ocean causing more water to evaporate. How did this effect the hurricane?
A. The hurricane lost heat.
B. The hurricane lost pressure.
C. The hurricane became weaker.
D. The hurricane became stronger

59. Which is MOST LIKELY to cause a hurricane?
A. a distant tidal wave
B. a deep underwater earthquake
C. warm evaporated water from the ocean
D. cold evaporating water from the ocean

60. The sun warms a large area of an ocean. This causes a large amount of water to evaporate into the air. Which weather event might occur?
A. tornado
B. hurricane
C. tidal wave
D. freezing rain

61. Warm evaporated moisture from an ocean moved inland over a city. The city is blocked on one side by a mountain range. Which type of weather characteristic is MOST LIKELY to occur?
A. rain
B. snow
C. clear skies
D. low humidity

62.Why is the sun is responsible for making a car operational?
A. Sunlight grew the plants long ago that became the fossil fuels for cars.
B. Infrared radiation from the sun provides a pushing affect on cars.
C. The sun provides a gravitational pull that assists the cars motion.
D. The heat from the sun creates energy to power the cars.

63. What element is the main component of most stars?
A. Nitrogen
B. Iron
C. Hydrogen
D. Oxygen

64. Which of the following is a renewable source of energy?
A. Natural gas
B. Coal
C. Oil
D. Falling water




65. By increasing the height of smokestacks, industries in the Midwest reduced the local concentration of air pollutants. However, the pollution was carried by wind to the Northeast where it contributed significantly to
—
A. reduced rainfall
B. soil erosion
C. mass wasting
D. acid rain

66. [image: ]
At which ocean feature would the greatest amount of water pressure be exerted?
A. Continental shelf
B. Continental slope
C. Abyssal plain
D. Trench

67. Wind power is not typically used to generate all of the electricity needed for large cities because the —
A. energy source is inconsistent.
B. waste products are unsafe.
C. fuel expenses are too great.
D. energy produced is not in a usable form.
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